o hUObOﬂﬁ SN(FEAT I A B /B T T
pneumatic HMHSS%;U

Q sHBRTEER)

HMHS3-16D~25D OWA % 15
6-M3x0.58240RTB AR
(FMFEZEENL) S 2 28 BEDOE:-P
, T /T RRRF
o E(ti\\ A7 99 L}@ 7
@/“ SN EE
‘%f"?ﬁ B B o
AR A,
%@ gy 988 &
5 &3 EiE =
}/ R = AL ol KiE s
/ s o N EEDE P
4, ‘ " ' P.CD:R (RER7) (RS A

J/ 3-OAEIFNH OBRSC
P.C.D: R (=%4l)

e AA | AB | B |CB |DC |DO |EC |EO |FX | FY | FZ | G I J | K | NA NB o] B a [N R
HMHS3-16D| 35 | 32 | 30 | 11 | 15 |17 | 5 7 125 11| 3 [ 25| 4 | 10| 4 8 | 5h9% | 2 | M3x05| 6 | 25
HMHS3-20D| 38 | 35 | 36 | 13 | 18 | 20 | 6 8 [145| 13| 3 |27 | 5 12 | 5 | 10 | 6h993¢s | 2.5 | M5x08 | 7 | 29
HVMHS3-25D| 40 | 37 | 42 | 15 | 21 |24 | 7 |10 |17 [145] 5 | 28 | 5 14| 6 | 12 | 6h980m | 3 |M5x0.8 | 8 | 34

BE SA | SB |SC | TB | UA | uB VA VB WA XA XB
HMHS3-16D| 3.4 | 6.5 | 8 5 |M3x0.5| 4.5 | 2H9+3025 | 2 | 17H9 #5043 | 2HG+D.025
HMHS3-20D| 3.4 | 65 | 95 | 6 [M3x0.5| 6 | 2H9*0%% | 2 [ 21H9*)0%2 | 2HY+0.025
HMHS3-25D| 45 | 8 | 10 | 6 [M4x0.7| 6 | 3H9*30%5 | 3 | 26H9*(%%% |3H9*3%% | 3

® P
oA
uoban S TVIE A TR
pneumatic HMHSS%;IJ
HMHS3-32D~80D
Ad
2 £
6 TABRLURTE A a8 3 WA 3 we cB_ CA
______________ { ZEOR: P
R i 3 PRGETE
EE [ | o 3 T
& i i

E »T;Z_, _______ ’{ ?-n;é P““} i

HE7 ST 5 < g 2

ﬂi T *‘& . . . ; 42

; - Rl e XATR X ; S
/ KB Ml ) ’\\m ; LT ! :}—\—

1Y I.g =/ SUARGIRUB NEEDEP
/30SA I #RILoSERSC P.C.D: R (R%&4R4L) (BSATER)
P.CDR(Z®L)

e AA(AB |[AC | B [CA|CB|DC |DO|EC | EO| FX | FY | FZ | G 1 K L M | NA NB
HVWHS3-32D| 44 | 41 | 3 | 62 | 8 |16 | 28 | 32| 8 | 12 | 22 [195| 5 |305| 6 | 20 | 9 | 2H9*99%5 | 2 | 14 | 8h9S% s
HVHS3-40D| 47 | 44 | 3 | 62 | 9 |17 | 31 | 35| 10 | 14 |265(|235| 6 | 32 | 7 | 21 | 9 | 3H97Q% | 2 | 16 | 8h99
HMHS3-50D| 55 | 52 | 3 | 70 | 9 | 20 | 35 | 41 | 11 | 17 | 31 | 28 | 6 [375| 9 | 24 | 10 | 4H9'3° | 2 | 18 |[10h90,,
HMHS3-63D| 66 | 62 | 4 | 86 | 12 | 22 | 43 | 51 | 15 | 23 | 38 [345| 7 | 44 | 11| 28 | 11 | 6H9'3® | 3 | 24 |12h99, ..
HMHS3-80D| 82 | 77 | 5 | 106 | 13.5| 27 |53.5|63.5/21.5|31.5|475|435| 8 | 56 | 12| 32 | 12 | 8H9*0%® | 4 | 28 [14h95 .,

e 0 P Q | R |SA|SB |SC TA | TB UA | UB VA VB WA wB XA XB | YC
HMHS3-32D| 4.5 | M5x0.8 | 11 | 44 | 45 | 8 9 | M4x0.7 | 8 | M4x0.7 | 6 3Hg g% 3 | 34H9+Q062 | 2 |3HY+D0 3
HMHS3-40D| 4.5 | M5x0.8 | 12 | 53 | 55 | 95 | 9 | M4x0.7 | 8 |M5x0.8 | 7.5 | 4H9'Q%0 [ 4 [ 42H9+90% | 2 [4Hg+00%0 4
HMHS3-50D| 5 | M5x0.8 | 14 | 62 | 55 | 9.5 | 12 | M5x0.8 | 10 | M5x0.8 | 10 | 4Hg9+20%0 4 [ 52H9'}9" [ 2 [4Hg*Q0® 4 7
HMHS3-63D| 5.5 | M5x0.8 | 17 | 76 | 6.6 | 11 | 14 | M5x0.8 | 10 | Msx1 9 | 5H9*00 | 5 | g5HY*JOT¢ | 2.5 |5HQ*0 00 5 |75
HMHS3-80D| 6 | Rci8 | 20 | 95 | 6.6 | 11 | 19 | Mex1 | 12 | Méx1 | 12 | 6H9*}%® | & | 82H9'{%7 | 3 [gHY*Q0%® 6 8
HMHS3-100D - 125D

__GTARGRTE e

S(HINFEERRN) G AR
N 08 Ch
H e SRS
E E ,:,EQ i (ST
K IE W o :v‘m
3 ES i
a3io ud
i 3
EiE 4 e s
KIE ] : .

i e il N e

7 ? i P ; s -

% Lt e w/ 3UABSR UB ~ EEOR: P
/30sA BAHRALoSERSC P.C.D:R (R%#&#&) (S )

P.C.D:R (&%7.)

Qe AA | AB [ Ac | B [ cA | CB | Dc | DO | EC | EO | FX | FY | FZ G I J K L M | NA NB
HMHS3-100D| 96 | g0 6 | 134 | 18 |306| 66 | 78 | 28 | 40 | 59 | 54 | 10 83 | 15 | 38 | 15 | 8H9 0% 4 | 34 | 18n9°%
HMHS3-125D| 122 | 114 8 | 166 | 235 | 38 | 82 | 98 30 | 46 | 74 | 88 | 12 84 18 | 52 | 21 | 10Hg0-0% 6 40 | 22h9 %06

e ol P Q R | SA | sB | SC TA T8 UA UB VA VB WB wB XA XB
HMHS3-100D| 7.6 | Relly | 23 | 118 | 9 | 14 | 21 |M8x1.25| 16 |M8x1.25) 16 8H 0% | g 102H9 *J%7 | 4 8Hg +0-038 6
HMHS3-125D| 10.5| Re3jg | 31 | 148 | 11 [17.5| 34 |M10x1.5| 20 |M10x1.5 20 10Hg*0-0% | g 130H9 "1 | g | 10Hg*2-038 8

o huoban® S TUVEER TS

pneumatic HMHSS%;U
HMHSJ3-16D~25D
6-M3 x 0.548 5 TB P 3-M4 x 0.742 51 RB
B 238 AR L [FHEFEO) . cB CA
22 & —
& 28 \ >
kE @ EE Q
SO ki s -1 &
o
= ] — (
=2 o T 3
=T e e  —
— —
NB - 2 L —
(FEM@EO)
3-a3.2inFLESBiR4 ;? 3 AD AE
P.C.D.R (Z# A7) &
AA
(mm)
e AA | AD |AE | B (CA | CB | DC | DO |EC| EO |FX|HA |HB | J | K NB o P Q| R |SB|TB WA
HMHSJ3-16D | 46 | 16 | 27 | 30| 7 | 14 | 175 |19.5 | 7.5] 95 |12 |44 | 36 | 10| 4 | 5h9 0,5 | 2 | M3x05 | 6 |24 6 | 5 | 17H9'23
HMHSJ3-20D0 | 49 | 18 | 28 | 36| 7 | 14 | 20 | 22 | 8 | 10 |15 |50 [ 42 [ 12| 5 | 6h9 gy | 25 | M5x0.8 [ 7 |29 [6.5( 6 | 21H9'00%?
HMHSJ3-25D | 55 | 20 | 32 [ 42|75 [17.5 | 235 | 265 | 9.5 (125 | 18 |50 | 50 | 14| 6 | 6h9 Qs | 3 M5x0.8 | 8 |34 |65| 6 | 26H9' 002
HMHSJ3-32D~80D
6-TASERTB p 3-UARY ﬂgs s
= —_ P.C.D.R (%% M
(Eﬁ#xiémlmﬁc CB, CA (F4E7F #0) F)é
" o T 3-YAB4IFEYB

— | )
E =
S o
512 ~ °
b3 o -~
b 5[%
& _JI::L_
Pl —
2Tm P -
[0 | ae | (FEEER)
AA

(mm)
BE AA|ACIADAE| B |CA | CB|DC |DO| EC | EQO FXHA|HB|J |K 1E NB | O B Q|R|[SA|SBSC| TA [TB] UA [UB| VA N\B WA:[WB YA |YB

M
HMHSJ3-320 | 63 24(36(54/9.5 | 19 31.535.5[11.515.5/22| 75 | 65 (20 g |2H9;%%% 2| 8h9%;:q4.5|M5x 0.8 11(44/4.28 M4x0.7| 8 |M5x0.8 [10(4Hg;>%| 4 [34H9,"™ 2 [M4x0.7| 8
HMHSJ3-40D | 66 | 3 [26(37(62[10.5( 19| 36 | 40 | 15 | 19 |26/ g6 | 75 |21| 9 |3HE;"%| 2| 8he%, . 4.5|M5x0.8 [12[52]4.2|8
2
3
4

~0.062

4
M4x0.7| 8 M5x0.8 [10|4H9;""*| 4 |42H9;, | 2 M4 x0.7| 8
M5x0.810mMex1 [12[5H9;°%| 5 |52H9," 7| 2 |M5 x 0.8| 10
6
6

HMHSJ3-500 | 80| 3 [31]46|74[11.5(26.5 42 | 48 | 18 | 24 |32|10a| 88 |24|10]4Hg;""™
HMHSJ3-63D | 91 | 4 |37|50(92| 13 | 28 | 51 | 59 | 23 | 31 |40/125|106|28[11|6Hg;""®
HMHSJ3-80D |1 og| 5 |46|57[112] 14 | 31| 63 | 73 | 31 | 41 |s50]158|130/32[128HE;""™

10h9% s 5 |M5x 0.8 |14[63(5.10.5
12h9% 444 5.5| M5 x 0.8 [17|78(6.6 |11
14h9%0:d 6 | Rcl/8 [20(986.6|11

M5 % 0.8/10|M8 x 1.25/16 |6H%"""| 6 |65H9;" """ |2.5MEx1 |12

M6x1 |12/M8x1.25/16[6H9;°°% g [82H9;" ™

e |w|w|w
| 00|00~~~

3mex1 |12

HMHSL3-16D~25D

6-M3 x 0.588 5L FTB
(Bt 52 FAB &Y)

(AA) 20.5° WA iE1.5
3- OSAILILESBIRSC N AB
P.C.D.R (&3 H¥) 7 P
7 — = \i [ ————
[ o) == | ‘ (FHEFAD)
L
E =
Y =—— < é
o
s &
oG —t
28 |
1 ; x
‘gy\‘::ff[ of KIE - |
© 4 1
NBl| || A AD P
| ta|mEee (F#EM&EO)
A @ |
R e E
BD H G
(mm)
me | aa| aB[ap [eABB[ec|eoce|poloc|eolec|Fx|[FY [Fz[ a [H] 1 [J[kNA nB |nco| P [alr[salselsclte] ua | va v wa XA |xB

~
&

M3X0.5(2H9;" %% 2 [17H9") % 2He %% 2
Maxo.5 2H93°'°25 2 |21 H9+gnsz 2Hg -ou 025 o
M4X0.7|3H9;" 3 [26HF'T952|3H9 0 3

w
N
w

HMHSL3-20D | 46 | 43 | 29 |36|45|36.6/16| 14 | 26 | 21 | 14 13 (332 12(5(11(6h99 .
HMHSL3-25D | 49 | 46 (31.5|42|52|42.6|19[16.5 30 | 24 | 16| 10 |17 [14.5/ 5 [34.27.84.5/14

©
=3
-
il
o
IS

7 |2.5|M5X0.8 7|29|3.4/6.5 8
13|6h95,.] 7 | 3 |msxo.gs[3alas| 8 |8

2]

K Q
HMHSL3-16D |43.5{40.5| 28 |30|40|30.6/12| 14 |23.5(18.5(13.5/8.512.5) 11 | 3 [30.5| 10(4| 8 (593 5a M3X0.5( 6 [25/3.4/6.5 5

5 7

6 8

2]




	页 1

